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Topic:- Child Development & Pedagogy (CDP)

1) As a teacher, what type of strategy you will follow in an inclusive classroom? / Udh Rrge

& FTUH, 3Ty TH AR H&T H 5T USR P 0 ST UTe— B2
1. All the above / mﬂlﬁ

2. Only Peer tutoring / BT TEHHI (&I

3. Only Cooperative learning / FHad W Bl

4. Only Collaborative learning /had TgANTIHD [RI&T

Correct Answer :-

« All the above / SUdad Tt

2) A person with capacities to respond appropriately to the moods, temperaments,
motivations, and desires of other people have good intelligence. / 'FIT'ﬁE'Q'ITGﬁ,

TgHTE, TR iR 3 &Il @t s=a1ait wR Ifera ufafsear 39 &Y edr arat safda A
33T UG BT g |

1. Intrapersonal / N RNERIER
2. Interpersonal / fqdafaas

3. Naturalist / Wﬁlﬁﬂﬁ){
4. Spatial / EJIEED

Correct Answer :-

« Interpersonal / fadafaas

3) What type of learner is a child who learns best by taking notes during class and reading

them aloud before a test? /WWWWWﬁT&ﬂ?ﬁ%, ﬂﬁ'ﬁ&ﬂ%?ﬁ?ﬁmw
3R Te A UEd F TR W UgHpe dgar Wraar g2



1. Reading/writing learner / UoH/ea fRigndiE@a are)
2. Visual learner / T fRremaff

3. Cognitive learner / GTATHD fRremeff

4, Descriptive learner / guirees fRremeff

Correct Answer :-

« Reading/writing learner / U&-/era fRref ﬁ@@ﬁ dTell)

4) What type of parenting style is characterized by giving no rules or structure to children? /

gﬁﬁaﬁaﬁéﬁmwmmqéﬁﬁmwﬁmmﬁaﬁﬁﬂwmaﬁﬁ

1. Enmeshed / 3T 31T

2. Permissive / \’rlfl?:nw

3. Authoritative / 3TIHIRD
4. Authoritarian / 3{fIHRATG!

Correct Answer :-

« Permissive / \}I:Enw

5) What phenomenon is experienced when one knows a person’s name but cannot remember

it in the moment? / fopf} SufaRT ST ATH U1 B AfP depTd TS ST 3 W fHH g1 H1
YT BT 82

1. Tip-of-the-tongue phenomenon / feu_aifm_g-df ge
2. Recognition error / HI-dI _aj%

3. Forgetting / H{cI-T
4. Retrieval cue / Wﬁ Tobd

Correct Answer :-

« Tip-of-the-tongue phenomenon / feg_aifs_g-df g

6) What theory focuses on the degree to which new information is mentally analysed? / P

1 RIGd 39 IR 9 Higd BdT ¢ f T8 TP RI &7 fhd g d% Aiie +u A
fazcryor fosa wirar 82

1. Information processing theory / {j\d"II-L—IiaNIObQUI Rygid

2. Relational analytical theory / AU fazcivuas Rigid




3. Levels of processing theory / UfehaThRUT Rigid o TR
4, Deep level processing theory / X TR P Ufharul Rigid

Correct Answer :-

» Levels of processing theory / UfharHRur Rigid & WR

7) Impulsivity is a characteristic of the following disorder. / STAHdT (—&'Wﬁq'ﬁﬁ)
fFafafad fier @ v faRuar 31

1. Eating Disorder / U [dPR
2. Attention Deficit Hyperactivity Disorder/ ¥ 3HId S IERIIRCEAN
3. Learning Disorder / 3feTH fddR

4. Post-traumatic Stress Disorder/ UY S{fHETdo=g -9 f[dpR

Correct Answer :-

« Attention Deficit Hyperactivity Disorder/ &I+ 3{HId S IERIRIRCEAN

8) Who among the following is not a learning theorist? / Fafafead &4 Udh SIFERTH
Risiaer T8 82
1. E.L. Thorndike / TSdS Ud USSP

2. E. Erikson / ‘s‘ Qﬁaﬂ:{
3. B.F. Skinner / Eﬁwm

4. Ivan Pavlov / $a9 UTdclld

Correct Answer :-

o E. Erikson / ‘s‘ Qﬁ'?ﬁl:[

9) According to Vygotsky, adults can help a child learn by building upon their knowledge
with new knowledge using techniques. / Wﬂ?\‘ﬁﬁ & SR, 9ITh LRG|
ST SUGRT PP AT I P HIY 3UA I ST {01 537 T 9= 91 e 3 7gg
qHd ¢l

1. Scaffolding / TRTH I

2. Psychological / EEICEIEED

3. Proximal development / JHoy faer

4. Ethological / EVISISEDS]



Correct Answer :-

. Scaffolding / THTHHITCET

10) According to Jerome Bruner, representation involves encoding action based

information and storing it in our memory / ﬁﬂ’q & SR, ufafafa &
%@%ﬂwaﬂmmmm%aﬁ?sﬁmwﬁﬁmmm

1. Iconic / Qﬁ%—lﬁﬁﬁ
2. Figurative / N NEIIRC
3. Enactive / E@H

4, Symbolic / UdIdhTED

Correct Answer :-

« Figurative / NREAIRCD

11) Principle of ‘zero rejection’ means — / ‘X[ AP d BT Rigiar &1 g g -

1. no child with disability will be denied opportunity to education. / Tt it fqaaiT o= @I Riem & s@EER 4
dferd a1 favar S|

2. no child with disability will be discriminated upon. [t oft feaaiv o= o I1Y Haurd a1
foba SE |

3. no child with disability will be given admission. / fdeit 4t feaaivT s=a &1 yadwr st fear Smam|

4. no child with disability can be served in regular school setting. / fdbat +ft faaaiT a= &1 fafia
faemer SRem & Y fean o wedn g

Correct Answer :-

« no child with disability will be denied opportunity to education. / ot +f} faai s &1 e & AR ¥
dfera 8T foar S|

12) The Big five personality traits is also known as /a%, uTg Afdiad AEUN &I
& 9§ Wt ST ST @

1. BROOK scale / b ¥l

2. RIVER scale / SIaR ¥hdl

3. OCEAN scale / 3R ¥hd
4. CANOI scale / ﬁ‘s‘ THd

Correct Answer :-



« OCEAN scale / IR ¥hd

13) The famous psychologist who established the study of genetic epistemology which
explains the process of how people develop cognitively from birth throughout their lives is: /

98 URIS Alag—e R SMIdfRIe IM-Usfa IR & 31eqd &1 RITYT B, o) 39
ufspar o\ saTE Hd1 ¢ & f5a yer aafet siias i o1 @ |3Ee U A
fasfasd e a8

1. Arnold Gesell / 3FTcS T

2. BF Skinner / i T RBR

3. Howard Gardner / B1aT8 ek
4. Jean Piaget / S foarst

Correct Answer :-

« Jean Piaget/ S foamst

14) The cells in the body that conduct information to and from the brain are: / IR A

DIRBTY ot ARRTSH T 3R ITP T TSR &1 Hare sl 8, = gt &
1. Reproductive cells / TSI DIRHTT

2. Muscle cells / ATHURNYG IRIBTY

3. Nerve cells / AT HIRTBTY

4. Blood cells / 3o BIRIBTY

Correct Answer :-

o Nerve cells / GIECA m

15) Assuming another person’s perspective is known as: / ot sru aafea & e IUT 31
TG FRAT&:

1. Role strain / Hf¥eT GaTd RId )

2. Role making / 4T AT RIet Afd)
3. Role distance / H[HT g3l (}1d f$H)
4. Role taking / HfH®T O (R <fdb)

Correct Answer :-

» Role taking / 'J-L[&Iwa:ﬂ (ﬁ?[ éﬁ?_rf)



16) Which sense takes the longest to develop? / T ¥ Tdg- ! famfrd g1 o siftreay
THY AT 82

1. Smell / U

2. Hearing / #oddl
3. Taste / g

4. Vision / €8

Correct Answer :-

. Vision /Ef¥

17) Which of the following is the final stage of reasoning in post-conventional morality

according to Kohlberg? / FufafRRad s ﬁ%?ﬁm‘ & IR SWR-ABITd
Afaear & ad 31 sifaw T g2

1. Morality of universal ethical principles / qrdaifee Afae J-LLQ'H\I' CAEINEN|
2. Morality of contract / THIT I Afdddr
3. Orientation toward punishment and obedience / GUS 3R ST Bt 3R S RCINE!

4. Social concern and conscience / HTHTIST {-Islj‘lﬂ%f 3R fad®

Correct Answer :-

18) Grade Acceleration is recommended for educating the children. / = DI

Rrféra w3 & fore s @ror ) feive ot 9t 21
1. Normal / QTR

2. Disadvantaged / dfad

3. Gifted / UfAHTRITS

4. Backward / [USS

Correct Answer :-

. Gifted / UfqHTRITGH

19) According to Freud, the term hysteria describes:/ WIS & AR, fRTar s &7 3

f
1. A phobia of animals./ SIECRED] Uh Bifedr
2. A phobia of people / T b1 Ueh Wifadl



3. The physical reaction to mental trauma./ AR 3TTd o o RN dfdfehar
4. The physical reaction to emotional trauma/ HIdTHD TTd o fo eI ufafearn

Correct Answer :-

« The physical reaction to emotional trauma/ HIdTH®D HTUId & forg IR wfdfar

20) Behaviorism was founded by / TAERAIE §9F gRT =TI far v ot
1. Tolman / TIdHA
2. John B. Watson / S i .dTca

3. B. F. Skinner / &1.U% R
4, Thorndike/ﬂl:‘3|$$

Correct Answer :-

. John B. Watson / S & .aT¢E

21) Which of the following is not a characteristic of the discussion method of instruction?

/Frufafad & 9 = fAdy & R ugfa 9 ve faguar 78 82

1. The learners are trained for reflective thinking. /ﬁmﬁﬂﬁﬂﬁﬁlﬂq%m Q|§I|&‘H
fparSmarg|

2. It involves competitive cooperation. /sﬂﬁqﬁwﬁfw ey %I
3. It is an oral and written method of instruction. / g ﬁé?l ﬁwm @Tﬁf@ﬁq@'ﬁfgl
4.1t is a group centred process. / I8 U AYfe® dfad Uiehal g

Correct Answer :-

« Itis an oral and written method of instruction. / g IiléQI ﬁq&mﬁ@aﬁ Gﬁi%@ﬂq@ﬁ[%l

22) The shape of one’s nose is determined by: / fo<At &1 A1 &7 TP R m g1 feifa

BT o:

1. Geography / {Td

2. Environment / TITGR 0T
3. Heredity / 3{TaRTehdl
4. Culture / G&Ppid

Correct Answer :-

 Heredity / W



23) Learning should be focused on: / SRR R = dfea fovar s=m ?IT%'({:
1. what child is learning / S<aT T fATH B IET B

2. performance / LR

3. getting job / B UT HAT

4. marks/grades / 3{db/ PE]

Correct Answer :-

. what child is learning / S/<aT &1 3{TITH HR |1 8

24) According Jean Piaget, children develop abstract logic and reasoning skill during ./ 5= foarst

PR, IR T # el dd 3R 7 SIva AR giar 8|
1. Concrete operational stage / ﬂﬁw S{AR]T

2. Formal operational stage / &rqﬁ TfhaTdd SaT

3. Preoperational stage / qﬁ- i aTa T a1

4. Pleasure / 3{Fq

Correct Answer :-

+ Formal operational stage / \’rl'&?f TichaTcD AR

25) The method which is based on the fact that students learn association, activity and
cooperation is known as: / g faftr &t 391 aat wR enuTia gl 8 fr o= wge® nfafafyr iz
TganT Whad §:

1. Problem- solving / SHXT- JHIYUTT
2. Project/ PUICEI

3. Demonstration / UG

4. Discussion / faaR-fawm=t

Correct Answer :-

. Project / GaISHT

26) Inclusive education requires that schools should be free from the effects of negative

forms of ./ gHTaxh e & fore smawae g & faemay, ® THRTHSD =4I
& YUTT I g B |

1. Imbalance / 3 EJaA



2. Differentiation / 3{ddh ¢l
3. Diversity / fafaerar
4, Discrimination / U&UTd

Correct Answer :-

« Discrimination / U&UId

27) A commercial advertisement of food produces saliva in our mouth. This is because of

. /@mwmﬁﬁﬁaﬁmﬁgﬁmmmmélmm
|

1. Operant conditioning / JTRE HelRHT

2. Sign learning / Uciidh JfRTH

3. Classical conditioning / FATRIH A Dol
4. Latent learning / Tt SHfeRTH

Correct Answer :-

« Classical conditioning / FATRIH A Do IR

28) helps the visually challenged people to read and write using finger tips and

special aids. / WmﬁMﬁmmﬁmWﬂq%mﬂ
GRT U 3R forgq § AgTadl HRaT B |

1. Lovass / A
2. Braille / i@

3. Idea books / faaR Qad (3mefear ga)
4. Tdea starter / foaR URY® (GTIE‘%TIT E’I—(h)

Correct Answer :-
 Braille /aﬁ
29) CANCELLED

According to John Dewey, the teacher plays the role of a in the learning process. /

Wi 3dt & ouR, e sftrm St ufpadees . @t yfre Ay 21
1. Guide / ANER®

2. Facilitator / JAYR

3. Partner / 1}



4. Philosopher / GRIFTRIT!

Correct Answer :-

« Partner / 1t

30) CANCELLED

Stress affects learning negatively by: / 7919 THRIA® ¥U A @A B gHIId HIa1 21

1. causing learners to act out or zone out./ Rrenfiai & FRi HA & for ORd AT

2. teaching learners to improve their behavior./ 3 HAgR | JYUR H & forg Rrenfiat &1
UglHIl

3. encouraging learners to discuss their problems with peer. / AT & 1Y ITep ! qHWTSM TR

EEIEZS EA NN RRICIRI SRR EZSI
4. releasing adrenaline./ ngﬂféq SR AT |

Correct Answer :-

« causing learners to act out or zone out./ Rrenfiai & SR HA & NIy URd BT

Topic:- General Hindi (L1GH)

1) HIYAET 7 3T TR B T8 HISY 97a1S 81 SYP WHA Tgd JeTa1 Tian ot Traman 1 391
AT Y 9gd U 81 99 &) 3 98 | 3R suw g Y T 81 e el & aetht §1 wa-me, IwTfaal
¥ gl § @ PRl # ITddr g3 U 3 9gd SreST avrar 8 | gud WY 3% URT 1w B 1 W 61 o
a1 ot e} ga ATt @ SR MU F5 I BT B AT 8 a9 P! & 91eR agaR W 96T SAaId? UH-g &
TER I8 TR W 934 § 3R Upfa 31 Ser Fgra &1 3798 9 371 94 &1 gitd frercht 31 e guadt 3=
faie-=af #vd g, 71 @ U 7 g¢ wRif g5 &t e #) Y A fou wura § @ura § W & Wy $t
yifd ToR 34§

ST TN DI UgH A A 7T uki & IR s

;U B I de S a1 ard @2

1. Hgfe

2. faamm

3. By
4. 3D

Correct Answer :-

2) HIYASRT 7 U HRWR B Tt 18 99a1s 81 39S JTHA Jgd era-T siftar it evramar 81 39!
P N 954 9 B Waﬁwqﬁ%sﬁvwgqﬁw%lwaﬁwﬁ:#&mﬂ%lgmﬁﬁ IpIfaay
¥ gl ¥ o waaRl A ITAdT §31T U1 3= 98 33T &TdT ¢ | 994 WY 39% Uy ST 31 M B o



a1 ot e} ga ATt @ SR ST F3 1 BT B AT 8 99 P! & 9IeR gk W 96T SAaId UH-g &
TER I8 el W 34 § 3R Uopfa &1 Se1 FeRd &1 399 9 37 949 &1 gitd fhraret 81 i guadt 394
famig-waf ®wa g, 78 9 U 3 gU il 5o 3t e 3 Yg A Ry wura 8 wara # Jwn #) Ww $t
Yifer ToIR 33 &1

IUa TN DI UgH A1 AT 7T uHi & IR 9

UR: ST &7 qaigard! /s el 8?2

1.9Y

2. I

3. &R

4, P

Correct Answer :-

3) WIYFSN A U HRIR o1 Tt FIS) a77a13 8| 39 A 9gd Gera-1 aeirar W avmaran 31 399t
AT Y 954 U9 81 U9 Bt HHY L 8 3R I g T T 71 Ge® AT & St €1 wa-uid, Ywrfeat
T gl # o BaaRl A ITAdT §3HT U1 3= 9gd 33T @TdT ¢ | 99y WY 39% U S1w 31 M B 5
o Y Rft Ta Sreht @ SR MU 5 [ FT1 81 SIIaT 8 99 FIST & 18R IgaR W aEd SAAIh H9G &
UER 98 Teid W 54 & 3R Upfa #1 Tl R §1 399 Al 399 74 &1 git fradt 81 fi g at 3
faeiig-wat ®vd g, 78 9l U I gU BRif g9 3t ed 3 Yo A T wura € wara o I &) W $i
Hife TR & B

ST T DI UGHN A AT TC ui & IR s

UL: ‘e’ BT Ygiaard W 81 82

1. gHAq

2. 7Y

3. 3G
4.99

Correct Answer :-

4) WIS A AU TRRER $t Th 1St §9a18 31 ITP Y9 9gd JeTa-1 Fiitan f avrarar g1 31
T S 984 U9 B Waﬂwqﬁ%aﬁvwgqﬁw%lwaﬁ‘wﬁr%m%lwﬁﬂ IHTfaal
T gl # o BaaRl A ITAdT §3HT U1 3= 98 33T &TdT ¢ | 99y WY 39% Uy S1w 31 M B &
o1 Ft et T@ Tt @ SR MU F3 ¥ BT 8 W1l 8 99 P11 & 916R IgaR W 96T SAdId? UG &
TER T8 ol W 354 § 3R Uopfa &1 SeT FeRd §1 3799 9 37 94 &1 git fhreredt 81 i guat 394
fae-=af ®va g, 78 a1 U 39 §U weif go 3t Wew 31 He d v wura € wara § Y &) W $i
ifa R ¢4 B

IUYT TR B UgHR A4 3T 7Ty & IR aa1sd =

U T @ 7 9y 82

1.%211@3%@%@%%%



2. 9cTs I1 WIed e

3. ficl ®Us
4. d B 3N el ATeR

Correct Answer :-

« PIAE AT & YN Y §1 AYeT fos1ad

5) WIYGSN A U HRER o1 Tt 1) 397418 8| I9F A 9gd Gera-1 Feiran W avmaran 31 3951
ELIRERGR LR Waﬂwqﬁ%aﬁvwaqﬁwélwaﬁ‘wﬁr%miﬁwﬁﬂ BTl
T gl # o bRl A ITAdT §3HT U1 3= 98 33T TdT ¢ | 99y WY 39% U S1w 31 M 6 &
o1 Ft et Ta Tt @ SR U F3 ¥ BT 8 1T 8 99 P11 b 18R gk W 96T SAdId? UG &
TER T8 el W 364 § 3R Uopfa &1 Ser FeRa §1 3799 9 39 94 &1 gitd fhreredt 81 i guadt 394
fae-=af ®va g, 78 a9l U 39 §U weif g9 3t Wew 31 He d v wara € wara § Y &) W $i
ifd R ¢4 B

ITYe TN B UgH A AT 7T usl & IR 9drsd

UL: IR Wg A A A |

1. ozt

2. T8
3. dogd
4, TS

Correct Answer :-

6) AIUASN A U HRAR &1 Tt HIST 77418 81 ITP A 9gd Jera-1 Firan W evmamn g1 3991
AT Y gd U 81 ¥ &) 4 78 8 3R saw g Y T 81 e e & sretht §1 wa-ue, IwTfaal
¥ gl § @ PRl § Soadr g3 U 32 98 3reST avrar 8 | gud WY 3% URT 1w B 1 W 6 o
a1 ot e} ga ATt @ SR MU F3 91 BT 3l AT 8 a9 PIS! & J1eR agaR W %] SAaId U-e &
TER T8 TeiE W 34 & 3R Uopfa &1 SeT FeRd &1 3799 9 37 949 &1 gitd fhreret 81 i guadt 394
faie-=af #vd g, 71 a Uy 7 gU wRif g5 ot e #) Y A fou wura § @ura § W & Wy $t
yifd ToR 34§

ST TN DI UGH A1 AT 7T uHi & IR qansd

UR: XMTH & GUT $T €9 ST a1 82

1. Had UM Hs T 61 81 ST §

2. Pad feg Bt i s S B

3. f&T ot miif o ST R SR S %% 31 1 81 S 8; At

4. &1 & il 51 oirclt ©

Correct Answer :-

. fe7 3t Tl o S @ SR A 6% T BT 81 ST |; Gl



7) WIS 7 U TR &1 T 18} a1a1s 81 ISP JWA g JeraT sviran off aeramar 31 39
AT Y 9gd UW 81 99 &1 98 § 3R suw g Y Tun 81 e e & sett §1 wa-uig, IwTfaal
¥ Bl ° @ PRl # ITadr g3 U 3% 98 35T avraT 8 | g WY 3% URT 1w | W 61 o
a1 ot e} ga ATt @ SR ST F3 91 BT B AT & 99 P! & 9IeR agaR W 96T SAaId? UH-e &
TER 8 Tl W 34 § 3R Uepfa & Se1 FeRd §1 399 9 37 949 &1 gitd firaret 81 guadt 394
famiig-waf ®wa g, 78 9 U 39 gU weif 5o 3t e 3 Yg A Ry wara 8 wara # Jwn &) wWw $t
Yifer oIk 33 &1

IUad TN DI UgHR A1 T 7T uHi & IR 9arsd

e e A aift w82

1. 9dg

2. PRD

3. feim

4. IuTf

Correct Answer :-

8) WIS A AU TRRER Ft T H1d §9a18 31 ITP A 9gd JeTa-1 aitan ot avrarar g1 371
AT 9gd U9 81 U9 Bt HHY L | 3R I g 1 T 71 Ge® AP F et €1 wa-uid, Ywrfaat
T gl # o Rl A ITAdT §3HT U1 3= 9gd 33T @TaT ¢ | 99y WY 39% U S1w 31 M B 5
o &Y Rft Ta Sl @ SR MU 5 [ F1 81 SITal 8 99 HIST & 916 IgaR W & SAAh H9G &
UER 98 Teid W 54 & 3R Upfa &1 Ter fFegra §1 399 Al 399 w4 &1 git e 81 fi g at 3+
famiig-wat ®vd g, 78 91 U I §U BRif g9 3t e 3t Ye A Ry wura € wara o i &) W i
Hife TR < B

ST TN DI UgHR A T ¢ uHi & IR s

U: UGN {5 UoR & SrgHt 82

1. grax fRef aret

2. 911 3fTed! aret

3. fAdA qfe fore o

4, TR R IR g

Correct Answer :-

. R SR AT

9) WIS A AU WRER Ft A SISt §9a18 31 ITS TTHA Igd JoTa+1 itan ¥ araran g1 3761

AT 95 U9 71 99 Bt HHY L B 3R g g 1 T 1 Ge® AR F anrerft €1 wa-ui, Yrfaat

T gl # o bRl A ITAdT §3HT U1 3= 98 331 TTdT ¢ | 99y WY 39% Uy S1w 31 M 6 &

& &Y et o STl @ 3R A B [ BT 81 SIiaT @ 99 $1d1 P A1eR Igar W 9% SHarh 949G &

TER T8 el W 364 § 3R Uopfa &1 SeT FeRa §1 3799 9 37 94 &1 gitd et 81 i guadt 394

mz-aafggg%}qﬁﬁmr@@wﬁgﬁﬁwaﬁﬁgﬁﬁqmﬁmﬁﬁwaﬁmaﬁ
TOR 349 71



ST TR F UGB 1 f3T ¢ uei & IR Farsd
U: WIYTERI DI D13t & ATHA T YT?
1. ST

2. SRy

3. Hgd
4, =T

Correct Answer :-

10) HTYGERT 7 3T IHRER B T HISY a7a1s 81 3P WHA Igd Gera-1 auiar +ft erraman 1 39!
AT Y 9gd U 31 99 B 78 | 3R saw g 1Y T 81 e i & srerht €1 wa-me, IwTfaal
T gl # o BaaRl A ITAdT §3HT U1 3= 98 33T aTdT ¢ | 99y WY 39% Uy S1w 31 M &) &
o1 &t et Ta Tt @ SR ST F3 3 BT 8 1T 8 99 P11 & I18R IgaR W 9T SAdId? UG &
TER T8 ol W 364 § 3R Upfa &1 Ser FeRa §1 3799 9 37 94 &1 gitd et 81 i guadt 394
fae-=at ®va g, 78 a9l U 39 §U weif g9 3t oo 31 Hg § R wura € wara § Jun &) W $i
yifd TaR 34 B

ST TN DI UGHR A AT 7T uHi & IR s

UT: ATYGEN S T 95 S(eS] Il o2

1. BoaR! H IBerdl il Ut

2. TYR TR I3

3. HYAq -l

4. UHTd B BT FEgRAT

Correct Answer :-
. WeIRI H IBeldl gl Ul

11) UIYGSRT A (U HIHRER B T SIS g9a18 8| TP A 9gd gera-1 Fiftan oft evmarar g1 39t
AT Y 9gd U 81 99 B 3 8 | 3R suw g 1Y T 81 e il & setht §1 wa-ue, Iwrfaal
Bl § T BaAR| W ITAdr g3 U 38 9gd ST Al 8 | W9 o I U ST § 1 WH $i o9
a1 ot e} ga ATt @ SR ST F3 91 BT B 14T & a9 P! & 91eR IgaR W a%d SAaId UH-e &
TER T8 TeiE W 34 § 3R Uepfa &1 Se1 FeRd §1 3799 9 37 949 &1 gitd fhraret 81 i guadt 394
faie-=af #vd g, 71 @ Uy 7 gU wRif g5 o Hew #) Y A fou wura § @ura § e & Wy $t
yifd TR 34§

SUa TN DI UGHR A1 AT 7T uHi & IR s

U: WIYGSR ®f {5 die 3 Uw u?

1. BI3T
2. GIHIHR

3. Pl



4, A=

Correct Answer :-

12) WIYESRT A 3 TR B T4 IS g9a18 81 TP v ggd era-1 Siitan +ft evrarar g1 39t
P N 954 W9 31 99 B HH 7Y | 3R v g 1 T 71 Gee® AR F amreft €1 wa-uie), yefaat
T gl ¥ o Rl A ITAdl §31T U1 3= 98 33T @TdT ¢ | 994 WY 39% Uy ST g1 M B 5
o &Y Rft Ta et @ SR MU 5 [ HT1 81 WI1aT § 99 HIST F 916 IgaR W aed SAATH H9G &
UER 98 TTeid W 54 & 3R Upfa 91 Tl R §1 399 Al 399 74 &1 git frad 81 fi g at -
faig-=af #vd g, 71 a@ URT 7 gU wRif gk ot e ) U # for wura € @ # W & W@y 3t
Hifer ToiR 3 €1

Iuad TR B UgH A AT 7T usl & IR 9arsd

U HIYaeRT Tf® &9 d Hd 7?2

1. 3&H

2. Y1

3. fAeq
4. 3T

Correct Answer :-

13) HIYGERT 7 3T FTHRER B T HISY 97013 8 | 3P WHA Igd Gera-1 aufar oft eraman 1 39«6t
AT Y 95 U9 81 U9t HHY L B IR A g 1Y T 1 Ge® AR F ot €1 wa-uid), Ywrfeat
| gl # O BaR| | STl g1 U 3¢ agd a1 Tl ¢ | FHg Wi 377 U STt g | A $i o
39 3 TR @ STl @ SR SMTHAH FE T P18 o1l @ 99 BT & qTeR IgaR R a6 SAAThR UG B
HER 8 TellE IR o4 € 3 Uofa & Ser fFeRd &1 3798 9 37 949 &1 it frercht 81 e gu adt 74
fae-=af ®va §, 78 a9 U 3 §U BT 5o Ft oo F1 g A v wura 8 Tara § Jwn &) Ww $i
yifd TaR 34 B

Iued TR B UgHR A fau e usl & IR aadrsd

UR: G P TN T W B9 9847 32

1. for

2. HiYdq™I

3. HTYAGR o GRARISH

4, HIYdq™

Correct Answer :-

o HIYdeI™



HATYIG A U ITHRER DI T HISt g915 81 SqP ATHA 9§ GeTa-T1 aiitan W} Taman g1 39t war
q 959 W 31 99 B it 78 B 3R sug= g 1Y T 81 g ey & anetht €1 wa-me, ywrfaat @
Bl ¥ o BaR] W ITAdr g3 U 3= 954 3T aiTdT 8 | IHY ot 3% UTH HTW! g1 M9 & oiF faq
Pt TR e AT 8 3R STHU F3 T HT g1 AT 8 99 HIST P d18R ggaY R aed SAdIH A-G &
TER I8 TR W 954 § 3R Upfa 3 Ser Fera &1 3798 9 371 14 &1 gitd et 31 e guadt s= =
faie-=af #3a g, 7Y @ Uy T gU wRif g5 & Hew #) Y A fou wura § wura § e & Wy $t
yifa ToR 34 B

ST TN DI UGHR A1 fIT 7T uHi & IR s

URH: A T AN {59 U & gt 82

1. foemr & waH

2. AR F wq H

3.e b =u

4. dipd B =Y H

Correct Answer :-

. dPTFETH

15) WIYESRT A (U W B T HIS} g9a18 81 3TP v ggd Jera-1 Fiftan +ft evmarar g1 39t
P N 954 U9 21 99 B HH 7Y | 3R i g 1 T B1 Ge® AR F amrerft €1 wa-uie), yefaal
¥ gl ¥ o waaRl A ITAdl §3MT U 3= 98 35T @TdT ¢ | 994 WY 39% U ST 31 M 6 &
a1 ot e} ga Tt @ SR MU F3 391 BT 81 AT 8 99 P11 & 18R agaR W 96T SAaId? UH-e &
UER 98 TTeid W 54 & 3R Upfa 91 Ter R §1 399 Al 399 v4 &1 git frad 81 fi g at 3+
fae-waf ®va g, 78 at U 3 gU weif 5o 3 e F Y A Ry wara 8 wara § Jwn #) Wy $t
Hife o & §

ST TR P UGB 1 f3T ¢ uei & IR Farsd

e fFe Sruht PIdt SRR @t gars?

1. HIYdl

2. HIYdIqr™d

3. HiIdq

4, HiYdTqrd

Correct Answer :-

o HIYdQ™

16) UTaw %g &, udd ez,
yd-ud giafdd ypfa-a=n

AGATHR Udd IR

3T T T1-gHA BTS,
D T8 § IR-IR

4 o | e e,
-orad == # yar ara
uur |1 e g fammen



farfy &1 MR9 MR IR-3R
e # 999-9 I« ford a3
Tt ot afsal @ gev
A § 7 W Fsi

I Ui &1 UgH 14 fU T uel & SR aa15d
UR: Hfd B goIRI Td fPIe! avg TR 82

1. A P ST DI TRE

2. UGTS Bl 31T &1 RE

3. 98d IR D1 AB

4. GUU &} OB

Correct Answer :-

. TUGIS B 3Ral B TR

17) utad Bq I, udd we,
d-ud giafdd ypfa-a=n

AGATHR Udd IR

3T T T1-gHA BlS,
AP IGT § TR-IR
4R oia ® e TR,

-forad == # yar ara
dor a1 %ar @ fammen

i &1 Mg M IR-3R
e # 999-9 I« ford s
il &1 afsal @ gz
R & I R i

Iued U=l B g 1 AT 1T sl & IR garsd
UR: Udd BT yaigardt Mg 77?

1. Had Ugls

2. HId A

3. had 3

4. SIS Gt

Correct Answer :-

o SWRIad It

18) UGy Fq &Y, udd W,
Ud-ud ufvafdd yefa-ai

AGATHY Udd 3UR
3T A T-GHA BTS,



3qaP BT § TIR-IR
+ oa ® fAs AgeR,

-orad == # yar ara
dor a1 Sar @ fmmen
faf¥ &1 kg MeT IR-IR
e H F99-79 I«ford &R
Tt ot afsal @ grev
RA & =T W fasia

Iuad U=IR B g 19 AT Ty & IR garsd
U TR f5ad TRT &1 19 a1 % 82

1. dlefld

2. 7dt

3. 34Ul

4. q4d

Correct Answer :-

19) uraq %q I, vda uew,
Ud-ud ufvafdd yefa-asi

AGATHY Udd 3UR

I T T-JHA BT,
3AaIP 78T & TR-9R
I wa # e "ETeR,

-foraes IR # uer ard
uor a1 e g fammen
fafy &1 kg MeT IR-3R
e # d99-9 Iford o3
Tl &1 afsal @ g
A § T W sl

ST Ui ®1 UgH - fr T ue & IR qarsy
UR: IRA P goAT fHaQ B TS 82

AGIKICES

2. Hidl &1 dfsai @

3. 89R QU ¥

4. gUUT Y

Correct Answer :-

. Al Bl arsa



20) UTaw Bq I, udd uew,
Ud-ud ufvafdd yefa-al

NGATHY Udd 3UR

3T T T1-JHA BlS,
AP 78T & TR-9R

1 wa # e "ETeR,

-orae =R # yar ara
dor a1 e @ fammen

faf¥y &1 kg MY IR-3R
e # d99-99 Iford a3
ot &) afeal @ g
A T W i

ST Ui Bl UgH -4 fr T ue & IR Tarsy
T $IY A qrere S gl fhad s 22

1. it

2.4

3. qUUT 9

4, 79d 9

Correct Answer :-

21) Uraw Bq Ft, udd udw,
d-ud giafdd ypfa-a=n

AGATHR Udd IR

3T T T-GHA BTS,
JaqAID T8 § IR-IR
o | e 7o,

-forees =N # uer ard
uor |1 e g fammen
fafy &1 MR9 MeR IR-3R
e # 999-9 I« ford s
il &1 afsal @ gz
A & T R g

ST TR B UgdhR A AT 1T et & IR 94133 ;

UR: UTad B B upfa o S 31 ufead= omar 82

1. Had gad & -I1d B areel | gdd & IRSTs fedrs ISl g
2. Had T B fad o B

3. dhael HIH B gad Jaedl |

4. JURTad it



Correct Answer :-

o SWRIad gt

22) UrEaw Bq A, udd udw,
yd-ud ufvafdd yefa-a

AGATHR Udd IR

3T T T1-gHA BTS,
/T8 TR-IR

1 oa ® fAs AgeR,

-oras == # yar ara

dor a1 Sar @ fammen

i &1 Mg M IR-3R

e H F99-79 I«ford &R

Tt ot afsal @ grav

TR § 7w W fgi

ST U B UgHR A1 AU 7T i & IR 9a15a
U: UG Hg § UPpid $TEI?

1. §gd TRH TS B

2. YT B STl &

3. §X &0 SCardl 8|
4, TET gEAdT B

Correct Answer :-

. R YU SSAdI I

23) UTd Fq o, uda wex,
d-ud ikafdd ypfa-a=n

AGATHR Udd IR

3 A S-GHA BTS,
3qe® 8T ¢ TR-IR

1 oa | A "HETeR,
-foraes =Ron ® yer ara
uor |1 e g fammen
fafy =1 kg MR IR-3R
e # 999-9 I ford a1
At o1 afsal @ g
IR § 7 W Fsi

Iuad URIIRT B g 1 AT 7T g & SR ga1sd
Rz gE &1 3 32

1. o



2. 3
3. ool

4.9

Correct Answer :-

24) Ugd Fq &, udd v,
vq-ud ufeafda ygpfa-asri

AGATPR Udd IR

3T T T1-gHA BlS,
@1 8 IR-IR

i oa # fA "ETeR,

-foraes =Ron ® e ara

uor |1 e g famen

fafy &1 M9 e IR-3R

e # 999-99 I« ford s

il &1 afsal @ gz

R4 © 9T R fasfe

ST TR B UgdR A1 AT 7T uef & IR 9a15a
TR e T-GHT BE A FT 3= §2

1. $TH 9 PIs T

2. UgTel W R goIRl Getl ¥

3. U818 &I T 9

4. Bl & qRIAH

Correct Answer :-

. UgTS! W el gkl Bl &

25) Urad Bq A, udd uew,
yd-ud ufvafdd yefa-as

AGATHR Udd 3UR

3 T T-JHA BT,
/T ? TR-TR

41 oia A A AETeR,

-orad ==on # yar ara
dor a1 %ar @ fammen
faf¥ &1 kg MY IR-IR
e H F99-79 I«ford &R
it &1 afsal @ gz
A § I W i



S eI B Ugd -1 fr T uel & IR Tarsy
U HEE’ P AR HT 52

1. B

2. YFel

3. BV
4. di9g

Correct Answer :-

26) UTaw Bq I, udd ud=,
ud-ud ufeafda ypfa-asri

AGATHR Udd 3MUR

3T T T1-GHA BTS,
AP 78T & TR-9R

H oa | e 7o,

-forae =R ® yer ara
uor |1 e g fammen
fafy @1 kg MeT IR-3R
e # 999-99 I«ford a3
Tt ot afsal @ gev
A & T R g

ST U B UgdR A1 AT 1T uef & IR 94133
R e Vg e W | T g2

1. fag=it

2. A

3. dHH

4. FEd

Correct Answer :-

27) Uaw Bq A, udd udw,
yd-ud ufvafdd yefa-as

AGATHR Udd UR

3T T T1-gHA BTS,
AP IGT § IR-IR
1 oa # A 7HETeR,

-forad =N # yar ara
T 91 Ther @ fa=men



farfy &1 MR9 MR IR-3R
e # 999-9 I«ford s
Tt ot afsal @ ger
R4 § 7 W sl

I Ui &1 UgH 14 fu MT uel & SR qa15d
URH: ‘A’ g A T aedd 3?2

1. 9Hd Bg

2. Uisq Bq

3. 9N g

4. =fid g

Correct Answer :-

28) Urad %q I, udd wew,
d-ud giafdd ypfa-a=n

AGATHY Udd 3UR

3T T T1-gHA BlS,
TP TET § TIR-IR
7R va ® e wETeR,

e @R # uar ara

dur |1 ther @ fa=men

faf¥ &1 kg MR IR-IR

e H T99-9 Iiford B

it &1 afsal @ gz

Rd 3 9 W i

ST TR I UgHR A U 7T uel & IR 94154
UL: ‘3aa® 6T & IR-9R’ § Sadie A T4 g2
1. g

2. AT

3. q@Hl

4. Rl

Correct Answer :-

29) UTaw Bq I, udd udw,
Ud-ud ufvafdd yefa-asl

AGATHY Udd 3UR
3T A T-GHA BTS,



3qaP BT § TIR-IR
+ oa ® fAs AgeR,

-orad == # yar ara
dor a1 Sar @ fammen
faf¥ &1 kg MeT IR-IR
e H F99-79 I«ford &R
Tt ot afsal @ grav
RA € =T W fasia

Iuad U=IR B g 19 AT Ty & IR garsd
U ‘HE' A g1 AT 82

1. for

2. faamm

3. a1y

4. T

Correct Answer :-

30) ura¥ Bq A, udd wew,
Ud-ud ufvafdd yefa-ai

NGATHY Udd 3UR

I T T-JHA BT,
AP 78T & TR-9R
I wa # e "ETeR,

-foraes IR # uer ard
uor |1 et g fammmen
fafy &1 kg MeT IR-3R
e # d99-99 Iord o3
Tl &1 afsal @ g
A § T W sl

ST Ui H1 UgH - f3r T gt & IR qarsd
R T e A A A | @

1. gfesT

2. TR

3. Ul

R

Correct Answer :-



Topic:- General English(L2GE)

1) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
"And your hair has become very white,
And yet you incessantly stand on your head,
Do you think, at your age, it is right?”
“In my youth”, Father William replied to his son,
I feared it might injure the brain.
But, now that I'm perfectly sure I have none,
Why, I do it again and again.”
"You are old,” said the youth, “as I mentioned before,”
And have grown most uncommonly fat;
"Yet you turn a back somersault in at the door,
Pray, what is the reason for that?”
“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,
By the use of this ointment, one shilling a box.

Allow me to sell you a couple. ™ Lewis Carroll

A word similar to the word ‘incessant’ in the poem would be:
1. continuous

2. periodical

3. ending

4. interrupted

Correct Answer :-

e continuous

2) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,



"And your hair has become very white,

And yet you incessantly stand on your head,

Do you think, at your age, it is right?”

"In my youth”, Father William replied to his son,

"I feared it might injure the brain.

But, now that I'm perfectly sure I have none,

Why, I do it again and again.”

"You are old,” said the youth, “as I mentioned before,”
And have grown most uncommonly fat;

"Yet you turn a back somersault in at the door,

Pray, what is the reason for that?”

“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,

By the use of this ointment, one shilling a box.

Allow me to sell you a couple. - Lewis Carroll

How would you most likely describe father William?
1. A young, healthy sage

2. An old, fat sage

3. An old, fit, grey-haired sage

4. An old, fat, grey-haired sage

Correct Answer :-

» An old, fat, grey-haired sage

3) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
YAnd your hair has become very white,
And yet you incessantly stand on your head,
Do you think, at your age, it is right?”
“In my youth”, Father William replied to his son,
"I feared it might injure the brain.

But, now that I'm perfectly sure I have none,



Why, I do it again and again.”

"You are old,” said the youth, “as I mentioned before,”
And have grown most uncommonly fat;

"Yet you turn a back somersault in at the door,

Pray, what is the reason for that?”

“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,

By the use of this ointment, one shilling a box.

Allow me to sell you a couple.”- Lewis Carroll

What is the 'it' Father William is referring to in the given line?
I feared it might injure the brain

1. putting on excessive weight

2. having grey hair

3. trying a somersault

4. standing on your head

Correct Answer :-

« standing on your head

4) Read the poem carefully and answer the question given below:

"You are old, Father William”, the young man said,
YAnd your hair has become very white,

And yet you incessantly stand on your head,

Do you think, at your age, it is right?”

“In my youth”, Father William replied to his son,

I feared it might injure the brain.

But, now that I'm perfectly sure I have none,

Why, I do it again and again.”

"You are old,” said the youth, “as I mentioned before,”

And have grown most uncommonly fat;

"Yet you turn a back somersault in at the door,



Pray, what is the reason for that?”

“In my youth,” said the sage, as he shook his grey locks,
"I kept all my limbs very supple,

By the use of this ointment, one shilling a box.

Allow me to sell you a couple.”-Lewis Carroll

What most likely do you think is the objective of Father William?
1. To show the boy how healthy he is

2. To show the boy his agility

3. To prove to the boy that he is still young

4. To impress the boy and make a sale

Correct Answer :-

» To impress the boy and make a sale

5) Choose the appropriate pronouns for the given sentence .

aunt had a three-year-old daughter when lost husband.

1. His, they, her
2. Her, they, their
3. My, she, her

4. Their, she, his

Correct Answer :-
* My, she, her

6) Fill in the blank with the correct option in the given sentence:

The man was completely devastated and felt _______ all the time, after the death of his wife.
1. longingly

2. longed

3. lonely

4. loneliness

Correct Answer :-

 lonely



7) Which of the following options best combines the following sentences?
He is very old. He cannot walk.

1. He is old and he cannot walk.

2. He is too old to walk.

3. He is very old enough not to walk.

4. He is so old but cannot walk.

Correct Answer :-

» He is too old to walk.

8) Choose appropriate articles for the given sentence:

Jaipur is ___ beautiful place to visit provided you have __ proper information of places.
1. a, the

2. an, no article required

3. the, a

4. no article required, a

Correct Answer :-

9) Choose the appropriate option that rewrites the given sentence in its active voice.

Their lessons are being learnt by them.
1. They are learning their lessons.

2. They are learning lessons.

3. They were learning their lesson.

4. They learnt their lessons.

Correct Answer :-

¢ They are learning their lessons.

10) Choose the appropriate synonym for the highlighted word in the given sentence.

I paid her a compliment on her getting the first place in the university examination.



1. flattery

2. tip

3. praise

4. reward

Correct Answer :-
e praise

11) Choose the appropriate tenses to fill in the blanks in the given sentence:

We can out now. It any more.

1. went, didn't rain

2. going , doesn't rain
3. go, isn't raining

4. never go, isn't raining
Correct Answer :-

e go, isn't raining

12) Choose the appropriate antonym for the highlighted word in the given sentence.

That mistake was a result of crass incompetence!

1. careful
2. insensitive
3. vulgar

4, refined

Correct Answer :-
e refined

13) Choose the appropriate conjunction for the following sentence:

He showed a lot of promise in his nhew job his manager gave him a quick promotion.

1. because

2. as



3. and

4. but

Correct Answer :-

14) Choose the appropriate prepositions for the given sentence:

Let's be straight each other and don‘tjump___ conclusions.
1. against, for

2. with, to

3. at, through

4, for, into

Correct Answer :-

e with, to

15) Choose an appropriate modal for the given sentence:

you pass me some salt, please?
1. Might
2. Must
3. Could

4. Should

Correct Answer :-
e Could

16) Choose the option that best explains the highlighted expression:
Your little brother is a pain in the neck.

1. atoddler

2. a chatter box

3. a big bore

4. a big nuisance

Correct Answer :-



e a big nuisance

17) Choose the option that best transforms the sentence into its Indirect form:

‘Beware of pickpockets,’ said a huge notice.

1. A huge notice instructed us to be aware of pickpockets.
2. A huge notice is warning all the public to beware.

3. A huge notice warned us to beware of pickpockets.

4. A huge notice has claimed us to beware of pickpockets.

Correct Answer :-
* A huge notice warned us to beware of pickpockets.

18) Choose the option that substitutes the given phrase appropriately.

That branch of physics dealing with movement and force
1. Static

2. Dynamics

3. Electricity

4. Energy

Correct Answer :-
¢ Dynamics

19) Read the sentence carefully and choose the option that has an error in it:

We were officially notified of the newly public holidays.
1. officially notified

2. of the newly public holidays.

3. We were

4. No error

Correct Answer :-

» of the newly public holidays.



20) Read the sentence carefully and choose the option that has an error in it:

Just before he died, my friend who writes books published his second book.
1. my friend who writes books

2. published his second book.

3. No error

4, Just before he died,

Correct Answer :-

» my friend who writes books

21) Change the given statement to indirect speech.

“If you refuse to hand over the car, I will cancel its registration,” said the officer to the woman.
1. If you refused to hand over the car, [ would cancel its registration said the officer to the women.

2. The officer told the woman that if she refused to hand over the car, he would cancel its registration.

3. The officer told the woman that if she refuse to hand over the car, he would cancel its registration.

4. The officer warned the women that if she refuses to hand over the car, he will cancel its registration.

Correct Answer :-
» The officer told the woman that if she refused to hand over the car, he would cancel its registration.

22) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

It is very expensive to maintain a large car because it
1. is heavy

2. needs more durable upholstery

3. needs changing its tyres more frequently

4. requires more space for parking



Correct Answer :-

e needs changing its tyres more frequently

23) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

The author favours a car with a wide glass area so that the driver can
1. enjoy the scene outside while driving

2. display his beautiful upholstery with pride

3. have a good view of all sides

4. roll down the glass panes to get enough fresh air

Correct Answer :-

» have a good view of all sides

24) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

The size of the car should be in accordance with
1. the width of the road where the buyers lives

2. the size of the garage the buyer has

3. the volume of the traffic on the road

4. the money one can afford to pay

Correct Answer :-



« the size of the garage the buyer has

25) Read the following passage and answer the question given below:

When you buy a car, examine carefully the important features of the model you are considering. Many a
buyer of the latest models have got into trouble by buying a car too broad or too long for his garage.
Furthermore, a longer car is much harder to manoeuvre in traffic and much more difficult to park.
Another feature is the comfort afforded. Are the seats nice and durably upholstered? Is there enough glass
area to give the driver a good view in all directions, particularly the rear? It should be remembered that
the heavier and more powerful a car is, the more expensive it will be to operate. High-powered motors
require expensive high-octane petrol. The greater weight means greater tyre wear and enlarged brakes.
The old cliché is still true; it is not initial cost but the upkeep which matters!

According to the author, two factors that the buyer of a new car should keep in mind are:
1. Its upholstery and glass area

2. Its colour and upholstery

3. Its size and comfort

4. Its price and size

Correct Answer :-

o [ts size and comfort

26) Fill in the blank with the correct option in the sentence:

She acted as a peace-- between her squabbling children.

1. --sign
2. --ful

3. --fully
4. --maker

Correct Answer :-

e --maker

27) Fill in the blank with the correct option in the given sentence:

When I make a mistake, I am said to --calculate.



1. mis--
2. dis--
3. over--

4. un--

Correct Answer :-
e mis--
28) Fill in the blank with the most appropriate preposition in the given sentence.

Turn the lights outside. We don’t need them.

4, off

Correct Answer :-

o off

29) Choose the most appropriate determiner for the given sentence.

He gave of us advice about our present goal.
1. each
2. every
3. much

4, the whole

Correct Answer :-
e each

30) Choose the right tag:

It rained this morning, ?
l.isit
2.isn't it

3.did it



4, didn't it
Correct Answer :-

o didn'tit

Topic:- Social Science (S5C)

1) Match the following Education Centre with places.

1 Nalanda A Bengal

2. Somapura B.Kashmir

3. Jagaddala C.Bihar

4. Sharada Peeth | D. Bangladesh

| TAFATaTad 12181 hal ol T & G AdeT
1. =ATelgr AFITe

2. AT | B. %R
3. SEgenr | C. R
4. 9TRET UIa | D. SiFelieer

1. 1-A,2-B,3-C4-D
2.1-C,2-D,3-A,4-B
3.1-C,2-B,3-A4-D
4. 1-C,2-B,3-D4-A
Correct Answer :-

- 1-C,2-D,3-A4-B

2) The major disadvantage of dramatization is: / AeH T Ui BT Uy Jh A %I

1. It is not suitable for all subjects and topics / a8 T fawt 3R T % e SUgad T3
2. It improves group cohesion / T8 Tg H § YR FHRT 5|
3. It promotes self-confidence / T8 THAYT DI T@ral gl gl

4. It provides opportunity for self-expression / I8 TH-3HfaAfGT & foIT 3fawR Te™ FHRaT 5|

Correct Answer :-

« It is not suitable for all subjects and topics / T8 T fawa 3R TR & forw SUgad Te |



3) Which one of the following is not a part of early Jains literature? /

fFrufafad § 9 19 e YRS 39 9t &1 it 181 82
1. Brihatkalpasutra / §ed® cUyA

2. Acarangasutra / 3TRIRITRE

3. Therigatha / SRITTYT

4. Sutrakritanga / gAHNT

Correct Answer :-

« Therigatha / AT

4) The Guptas issued silver coins known as: / 7@l A 9idl & Ryge vafera
5, forg weTwmaT 8:

1. Karshapana / HYTOT
2. Dinara / f¢ARI
3. Pana /Y-l

4. Rupaka / 3Uldh]

Correct Answer :-

« Rupaka /2Uldhl

5) When does Election Commission orders countermanding of elections? / g-Td STHT

ATEl & Y HI BT S Hd a1 82
1. In case of scuffle among contestants / Uﬁ@ﬁtﬁ & & ET"’-I'I'CI'I_Sc & AEa H|
2. In case of booth capture / Y D o] Eﬁef &I fRUfa A

3. If nominated candidate belonging to a recognised party dies at any time after the last date of

nomination / A& fordt AadT Ut urdf @ Tifia Sefigar &t Amie @ sifad fafy & o
foaft oft T gog |1 S B

4, If a new party joins the contest / 37X ﬁ‘s‘ :l_sctl'lﬁﬂqw FI?;%T | W&Iﬁ%ﬁ?ﬁ%l

Correct Answer :-

« If nominated candidate belonging to a recognised party dies at any time after the last date of

nomination / e faret Ar=Tar e urdl T g IwficaR &1 Amie & sifaw fafy & a1
foraft off T g BT St ]




A Social Science teacher has developed an objective type test but she has a doubt about the
reliability of the test. What should be done to ensure the reliability of this test? | T TS
fagm Rier A T ag1E TR B THa I i 2, AfP 38 when oY Ryaaar w s g139
e B faya-aar giAfda s34 & fore @ farar sian anfee?

1. Cut short the length of the test/ TR1&f01 B F’I‘Gﬂ'sc HH DB

2. Increase the number of questions / U4l &1 W& IGI4

3. Try for test retest method / GRI&U-G:UR1&707 fafe) &1 Iamg

4. Divide the test into two halves / TR1&01 &1 Gl fgdl H fauiford o

Correct Answer :-

« Try for test retest method / TRI&UI-G1.GR1&0T fafel &1 vmg

7) In which year did India face the Chinese aggression? / g af o yra A T smeEHT
T |1 fpar?

1. 1955
2. 1964
3. 1962
4. 1965

Correct Answer :-

e 1962

8) Who acts as a link between the Council of Ministers on the one hand and the President as

well as the Parliament on the other? / T 3R HiAURYS 3R m 3R TG & ATY-ATY
pufa & 9 Th FI S FUH S B HRA1 32

1. Vice-President / B'qTI'gqﬁf

2. Prime Minister / GUTTHAT
3. Cabinet Secretary / Ffae afad
4. Parliamentary Secretary / T9qg gfad

Correct Answer :-

« Prime Minister / UHTHEAT

9) Who among the following is considered to be an architect of modern Social Science? /

Frafafeaa 3 @ 5 snyfte armfsme fagm &1 agerR a1 ST 82



1. Auguste Comte / 3R B
2. James High/@'ﬁl:[gl'i»c

3. Emile Durkheim / SHISd @'@ﬁq
4. Charles Beard / a7 998

Correct Answer :-

« Emile Durkheim / SATSd g@H

10) Who was not part of ‘Navaratna’ of Akbar? / {hdX & oA P 3T B T8 U2
1. Birbal / SiRecl

2. Raja Todar Mal / XTIl cre} Hd

3. Raja Bhara Mal / XTSIl HIR Hcf
4. Tansen / A9

Correct Answer :-

 Raja Bhara Mal /XISl HR Hcl

11) Who used to be the chairman of Planning Commission? / ST ST & 3(eqe] B

T2

1. Comptroller and Auditor General / BREEE th J-I6I('\1 (] tlﬂ%
2. Commerce Minister / GlIUSREE]

3. Prime Minister / eTTHAT

4. Finance Minister / o a3

Correct Answer :-

o Prime Minister / TYTHAT

12) Who developed Sociometry as a technique for assessing relationships among members in
a social group? / T ATHTTS TYE H TS| & a1 Hae| BT ATHA-T B3 & [ol¢ Th dPp-i1b &
U ¥ fa gurefafa &1 fdera fear

1. J.L. Moreno /@I.Qﬁ. ARA
2. Max Weber / Hg deR
3. Henry Murray / %ﬂﬂﬂ%

4. John V. Michael / S dt. Alg®Hd



Correct Answer :-

« J.L. Moreno /@T.Q?I. AR

13) Akal Takht in Harmandir Sahib was built by: / SXUT AIRT H IHTA d%d HT
erator o g fosam war ar:

1. Guru Nanak /[ [

2. Guru Angad / 7% 37T

3. Guru Hargovind / 1[® UIEH
4. Guru Govind / [® Tifdg

Correct Answer :-

 Guru Hargovind / T[® gNIdG

14) is the quantity of all goods of imports and exports in a year by a country. /

U ¥ gRT1U& 94 | 3mard 3R fafa & gt aral St amn gl

1. Tariffs / UR[eh
2. Volume of trade / SATUR TRHATOT

3. Quotas / Hicl
4. Embargo / ATUR-UfRIY

Correct Answer :-

« Volume of trade / SITAR TRHTOT

15) implies severe indictment of the government though it does not require
resignation of the Council of Ministers. / BT a0 IRPR & TR aRIgur 3 %,

FTaife gud forg whuRug & it 3 snaxasar T8 31
1. Cut Motion / eld! UdTd

2. No - Confidence Motion / 3Td¥ U

3. Adjournment Motion / FHRIRAH T

4. Censure Motion / ﬁ?'[ UIdrd

Correct Answer :-

« Censure Motion / =T UdT@



16) society feels concerned about meeting the needs of all its members. /

TS 3 Wt Hawt B oreval B R B & 9 | Rarsfa war
1. Egalitarian / GHMIYGRATG!

2. Elitist / GHidardl

3. Class Oriented / I 34

4. Sectarian / FTVGTAH

Correct Answer :-

. Egalitarian / GHMIYHRATEL

17) is a process of increasing knowledge, skills and capacities of the people of the

country. / I F AN P T DI 3R AT B I¢M B TP Ulehar 2|
1. Human resources / HATd JATYT

2. Human Capital Formation / HI-Id Q\Gﬁ fator

3. Physical capital formation / Wifde tle\\_:ﬁ fafor

4. Capital formation / Q\Gﬁ fmtor

Correct Answer :-

« Human Capital Formation / HI-d Q\Gﬁ o

18) The Rig Veda samhita denotes one-fourth of its hymns to : /%"a?;' Jfgar T 3'\‘1%? Uh-

TS WSTHT B 310 forg g=itan man @:
1. Agni / 31T¥

2. Indra / 3%

3. Rudra / ¥%

4. Marut / Hl>d

Correct Answer :-

e Indra/ 3_&"

19) The matters or subjects of common interest to both the Union Government as well as
State Government are included in list / PG TRPR 3R I AP 3.']71.1' & ﬁl'l'{
A=Y f3d & |ree a1 fawy Tt # =fire gl 7

1. Concurrent / Fl'ﬁla?ﬁ



2. Union / 99

3. State / XY
4, Uniform / ThIHIH

Correct Answer :-

o Concurrent / F’Hﬂ?ﬁ

20) The government of India established to coordinate the activities of all
institutions involved in the rural financing system. / HRd URPR = ureftor fa sgawT o
e qt S Y fafafirn & au=ag & fog Bt RITYAT BI B

1. National Board of Agriculture and Rural Development / ?T@'q w 3R I fasr s

2. National Board of Agronomy and Rural Development / Q‘I’g}q ?ﬁf ICEIG] 3R urior iy oS
3. National Bank for Agriculture and Rural Development / TI@'C[ ?fﬁf 3R grior faerg s

4. National Bank for Agriculture Reconstruction Development / T@’q w gﬂﬁqu ICEAREED

Correct Answer :-

« National Bank for Agriculture and Rural Development / ?TgTq ?ﬁf 3R urfior fderT o

21) The song Vande Mataram was first published in which text in 1882. / d¢ ATaRY Ma

ggelt IR 1882 H fba Sraazur § UHTRIA gair U
1. Anandamath / 3Fig H&

2. None of the above / B'Elqaﬁ A7y a’ﬁ'_éc :E’pf

3. Gitanjali / TSIl

4, Gita Rahasya / UGN

Correct Answer :-

« Anandamath / 3F¢ {38

22) The method of learning in which the students are given an open question and they design
investigation methods to arrive at conclusion is known as: / HrEH 3t fafe forad o= @t T
rfaifofa wy feam sirar @ ok 3 forsd v ug=M & fore s faftra &) fesirg= o @1 siftmmr Y 59
LEATK] & U H A1 AT 7|

1. Conformation inquiry / f&==gur Sita
2. Guided inquiry / R R g

3. Open inquiry / gail St



4. Structured inquiry / IRferd S

Correct Answer :-

» Guided inquiry / BERGKSIES

23) The main tenets of Mahatma Gandhi’s basic education is: / ngmrr’rsﬁaﬂﬁm&&n Ca|
7 i B

1. Education should develop a strong man / TRI&T &1 U Toigd I &1 AT &A1 A8 T
2. Education should be self-supportive / fRi&f AR g =R

3. Education should be based on cultural and social heritage of the Land / TRI&T &= &t WW
3R FrTfoTep faRTed WR Seid gt =i

4. Education should be activity-centered / TRT&fT Tfafafe-shigd g1 ATl

Correct Answer :-

« Education should be self-supportive / FRI&fT TAFHR g =Tl

24) The process of hiring an outside contractor, especially from foreign countries, to perform

their work is termed as /ﬁﬁﬂﬂﬁﬁ%&'ﬁ%iﬁﬁwmﬁmﬁﬁﬁw
ﬁgﬁm,m%wﬁﬁwﬁaﬁmmw & w0 § gRvutiya ot
I

1. Outer Space financing / STl RfcT IEELILL
2. Overseas financing / facRN fawaieo
3. Outstation sourcing / STl &4 Tlaq

4. Qutsourcing /EI'%:@T‘FT

Correct Answer :-

 Outsourcing /a'%:@?l:f

25) Which one of the following is not a characteristic of evaluation? /Fafafead g @
i 31 T fa=ivar 71 82

1. It implies a systematic progress / THPT I T afRyd wifa A 3|
2. It is a continuous process. / dg Uh Hdd ufesar %I

3. It always assumes that educational objectives have previously been identified and defined. / Ig

U AT ST © b Qferes S0l &l ugal ggamr 3R uRyiid fasar man g1
4. It does not give emphasis to personality changes. / 98 STk URTc UR SIR TeI T g



Correct Answer :-

« It does not give emphasis to personality changes. / I8 fddd gRad IR oIk T8 ST ]
26) Which statement about Kabir is correct? / @SR & ¥ & DI AT HYT ﬂ'ﬁ %?
i. Kabir Das was disciple of Ramananda. / FAR SN MG & f¥rsg

ii. Kabir belonged to the Muslim weaver family. / FAR 'ﬂ'm qgaddY gRarR | 4|

iii. Kabir believed God is one and people just worship him with different names. / FAR BT

AT AT b $947 U € 3R T oy 32 Raftrsr =1 & gera §1
1. All are correct / T9 g1 g

2. Only ii // Had ii

3. Only iii // bdd iii

4. Onlyi/Pad i

Correct Answer :-

o All are correct / Jd “v'l—epf %

27) Which of the earthquake wave travels fastest? / foa 'l{ch_ﬂﬂ'q T B GEH et T
Il o2

1. P-Waves / -]

2. S-Waves / Qﬂ—?‘iﬁ
3. L-Waves / Qﬂ-ﬁ?ﬁ
4. T —waves / CI-a|

Correct Answer :-

o P-Waves/ tﬁ—ﬂTPf

28) Which programme of the Government of India promises to extend livelihood security to
the rural households by providing one hundred days of guaranteed wage employment in

every financial year to every household? / WWW@?WWW“'&F\"
fo<ita adf § oo 41 fa7 3t TRE are AR UgH e i ufkar) &1 sishifawr
& &7 BT TG BT 82

1. Jawahar Rozgar Yojana (JRY) / SIdlgX ISR ST (@[.G{W.Eﬂg)
2. Sampoorna Gramin Rozgar Yojana (SGRY) /WT‘JITJ:ﬂ'UT ISR ST (@Gﬁ&maﬁ)



3. Integrated Rural Development Programme (IRDP) / Qaﬁ% 0T fah T S1dshH

(31133 S1

4. The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HeldHT el

RS ATHIOT ASATR TTRET ST (FRA)
Correct Answer :-

« The Mahatma Gandhi National Rural Employment Guarantee Act (MGNREGA) / HelHI el

RS ATHIOT ASATR TTRET ST (HRA)

29) Which is miniature of the parliament of India at the grassroots level? / A Hd TR UX
YRT B TG BT Y =T T 8?2

1. Gram Panchayat / 919 UI1Id
2. Gram Sabha / JTH gHT

3. Block Panchayat / i Uard
4. Zilla Parishad / foTeT aRwg

Correct Answer :-

o Gram Sabha / UTH YT

30) Which among the following is not function of Central Bank of India? / Fafafeada
T Aed 3 TP fear &1 &t 781 872
1. Custodian of foreign reserves / fageft Aol HSR &1 IIRED

2. Operation of Direct Benefit Scheme to the rural poor / o TRIE o o T e Ay aietn b1
SEINE]

3. Bankers bank / SP3BT dB
4. Controller of credit / 50T (shfSc) T dz®

Correct Answer :-

« Operation of Direct Benefit Scheme to the rural poor / o TRIE o o T e Ay e bt

31) Which among the following countries typically follows a free market economic system? /

fFrafoafad 3= & 9 $i9-91 321, Jod IR i JoTrell &7 SMRIRr &l 82

1. Cuba / dI
2. South Africa / CI&TOT 3hidhT

3. China / T



4. USA / GG T ERIDT

Correct Answer :-

. USA / Igdd Iy 3ERehT

32) Which mass based organization’s initiative led to the passage of Right to Information

Act?%gmmaﬁwaﬁﬁuwmhamﬁ%mmwaanﬁ
Ued §%?

1. National Campaign for Human Rights Initiative / TSR Ugd o forg ?T@'q 3R
2. Great Legalisation Movement India / Hgl iR e HRd

3. Mazdoor Kisan Shakti Sangathan / HoIgX o xifdd e+

4, Self — Respect Movement / Id-JH[ IAGE

Correct Answer :-

« Mazdoor Kisan Shakti Sangathan / FSIgR foar Rifad Irad

33) Which Commission was appointed by the Government of India to bring changes in
secondary education system to make it better for the nation?

/ YRA ARPR GRT f6H TN 1 Y & Y 98k 991 7 Areafie g yorredt &
qedrd aH & fore frge far are

1. Mudaliar / TR

2. Srikrishna / ST SOT
3. Ramaswamy / AT

4. Kothari / B3R

Correct Answer :-

« Mudaliar / HEH%RIR

34) How much time difference is there between two longitudes? / a %QTI?RBI & o9 fpd=T
TqHY 3R g1 8?

1.2 min /2 fie
2.12 min/ 12 f&Fe
3.8 min/ 8§ f&FIC
4. 4 min/ 4 e



Correct Answer :-

« 4min/4f8e

35) How many ‘subjects’ have been assigned to Local Governments through Constitutional

Amendments? / GUTP TNYF & ATHH | WM WRERI &1 fHaq faww Jid 3 g2
1. 10
2.19
3.39

4. 29

Correct Answer :-

e 29

36) Which of the following is an outcome of pragmatic school of philosophy? / @I A T &=

SRR & ATTERYAS ATy &7 T UfRumi g: -
1. Project method / LIRS (Eh@FE') fafer
2. Discussion / GR=af

3. Team teaching / T1H fR7&f0r
4. Source method / T fafd

Correct Answer :-

» Project method / URASHT (Wietae) fafdr

37) Which diagrammatic representation would you like to choose to show Proportionate Allotment

of National Income to different categories? / fafirsr Sforai o ?T@'q A &S Gﬂﬂ'ﬂ'lﬁﬂ? 3HTde &
e & forw sy fre st fAeuor &t g ada?

1. Flow diagram / Udlg 3N
2. Time Lime diagram / CIgH <IgH 3G

3. Bar diagram / d[X 3R
4. Pie diagram / BIERSIRSS]

Correct Answer :-

o Pie diagram / m‘s‘ 3R

38) The National Curriculum Framework, 2005 insists that Social Sciences must link child’s life at

school with: / TS UTGT=AT B FTURET, 2005 3H ITd TR SR &all § [ e & AraTiore faqm



@1 a= & Sita | 19 gRT it =ifee: -

1. Real life outside the classroom / BT b TR BT IRAfdD S

2. Life inside the classroom / B&T & HIaR Siid—
3. Textbooks in the classroom / B&T H U@W
4. Teacher's expectation / fR1&® 31 3rder

Correct Answer :-

« Real life outside the classroom / B&fT & TG BT dRA[dd Stad

39) The Aihole Inscription is ascribed to which of the following rulers? / FFrafafad st A

W forad gRT Ueia Rrarera fofaa art ot g2
1. Kharvela / @Rdd

2. Bimbisara / T ER

3. Rudradaman / $&GIHA

4. Pulkeshin Il / Gcoh = fgata

Correct Answer :-

o Pulkeshin Il /Wﬁ?ﬂq

40) Which of the following is a plantation crop? / fAufif@a #f & H19-3 T geRIvu Baa
a2

1. Sugarcane /7T
2. Cashew nut / PI]

3. Cotton / hUH

4. Red Chili / o< fod

Correct Answer :-
 Cashew nut / 1]

41) Criterion-referenced evaluation refers to: / ATGS-giid eIidH BT aTead
gl

1. Evaluation based on a set of predetermined criteria / Uﬁﬁ%ﬁﬁﬁ qHCS! & U AT & YR |
T HAT

2. Evaluation conducted without any arbitrary norms / fé& Ht B0 OS] & Gedich o faT
TSI AT



3. Evaluation carried out after conducting pilot test / TRIY® TRI&OT = & d1G G BT

4. Evaluation administered as post-test mechanism / Jedidh1 & ST TRIE0 o3 o =0 B URIRIG HAT

Correct Answer :-

« Evaluation based on a set of predetermined criteria / Gd fAYTRd AFCS! & TH AT & SHTUR W
HeTh HAT

42) In collaboration with an organization in which among the following countries, the
Ministry of Earth Science has launched ‘Project Varsamana’ as a cornerstone of the Indian
meteorological department modernization programme? / T& I3 & ggaiT ¥ Fafafea
20 A 3 fraw, gedt fagm wamera A uReda Wd Ry snyfRaieur srfea 3t snurien &
U H ‘ide qaiar yR faar 2

1. France / W19

2. Russia / &Y

3. USA / 3T
4, Germany / \_Slﬁ

Correct Answer :-

« France / Wig

43) CANCELLED

Which of the following is the narrowest strait of the world? / ﬁ'ﬁ'l%l'@_d ﬁ' @' aﬁq ?ﬁ gﬁl’cﬂ a?r
o Y1l TasHEHS (Sadfd) 82

1. Strait of Dardanelles / GTGHes STafe
2. Foveaux Strait / Idl ST
3. Bab-el-Mandeb / 91§ 3 A<d

4, Strait of Tartar / CICrQ CARUIGERIE]

Correct Answer :-

o Strait of Tartar / TR Y T
44) CANCELLED

Which one of the following is not included as a function of summative evaluation? / fFafeaa

T A B IS G- & S & =0 J e T8 82
1. Promoting / A8

2. Selecting / FAMAT HRAT



3. Discriminating / ICREEDR
4. Crediting / 99 &1

Correct Answer :-
. Discriminating/ﬁﬂm
45) CANCELLED

Which one of the following is not a characteristic of critical thinking skills? /Fafafead
w1 fdde |a BIRa o1 T faiar 78 82

1. Being time consuming and laborious / 3{f&/d FHY & dTcll 3R afesdt g

2. Being resourceful and creative / Te YU 3R TGS BT

3. Being systematic and deductive / SHaRId 3R fadieiss g
4. Being reasonable and rational / gdferd 3R ahaTTd g1

Correct Answer :-
« Being time consuming and laborious / 3(f¥d% THT 7 aral 3R afsft g
46) CANCELLED

The industry which produces machine tools which are, in turn, used for producing other

goods for consumption purpose. / a's'aaﬁx‘sﬁmﬂ'—ﬁ NSTRY WWW%, S gl
H, STUNT & I£T A 39 T3 BT I H & fT ST f5d =i

1. Fiscal goods / SIS HI

2. Capital goods / q\GﬂTI?TIIW
3. Consumer goods / 3YHTEIT T¥IU

4. Perishable goods / RIS g1 T HIdT

Correct Answer :-

47) CANCELLED

Who translated Ramayana and Mahabharata from original to Oria language? / {1 |

NS YT H IHTT SR WETHRE 1 3gaTe feae farar?
1. Fakir Mohan / B®R Ingq
2. Madhusudan Rao / HYJa- [d

3. Radha Nath Ray / 8T 1Y Y



4. Lakshmi Nath Bezbarua / a&aﬂ BN EREN

Correct Answer :-

« Fakir Mohan / BHR lﬂe:r

48) CANCELLED

The cold layer extending up to the ocean floor is called? / HH% <l dPp Hell 81 WRd BI
HIT T SITaT 52

1. None of the above / dl-lgiord Y c|'>\|$r el
2. Epilimnion layer / wfofermfAoe wRa

3. Thermocline layer / ﬂm g3d

4. Hypolimnion layer / gRUIfHHT WRa

Correct Answer :-

« Hypolimnion layer / gRUIfHHT WRa

49) CANCELLED

Match the following:

1. Din-i-Ilahi A Abul Fazl
2. PRam Charit Manas | B. Tulsi Das
3. Ain-i-Akban C. Babur

4. Tazuk-I Baban D. Albar

| Tafetaa & Fan:

1. Si-T-3ee! A. 3G Bl
2. TH °NT A | B. gordr o
3. WFTIGE | C. SR
4 geh-uael | D 3HFHST

1. 1-A,2-B,3-A,4-C
2. 1-D,2-A,3-B,4-C
3.1-B,2-C,3-D,4-A
4.1-C,2-A,3-B,4-D

Correct Answer :-



« 1-A,2-B,3-A4-C

50) Continuous and Comprehensive Evaluation has transformed the evaluation system as: /

Tdd 3R TIPS Yedih 3 Yedih- HuImelt o1 F ¥ A FTUiaid $= fear gl
1. More complex by incorporating too many details / §gd IR faa=ull &1 qMA B> 3R 3 Sfed
2. More comprehensive for scholastic areas only / %ad Qe & & forg sifdes g

3. Vague as exact rank of the student cannot be found out / 3ITY, Fifh SH & b Y BT Ul e
T S 9l §

4. More reflective of the entire personality of a student / T% BT & Q'\UTW & fawg o et
[EGERIK
Correct Answer :-

« More reflective of the entire personality of a student / T B & IIUTBEI%I(_Q' & fawg o aifte

51) The chalcolithic site Inamgaon of ancient India belongs to which of the following states?

/ﬁg%?aﬁﬁmwﬁmmmmmmgﬂmﬁmmm
el g2

1. Maharashtra / IIE'ITIE
2. Rajasthan / X[STRITH

3. Karnataka / EIO_'-IW
4. Gujarat / 7]SIRd

Correct Answer :-

o Maharashtra / IIBT\’Tg

52) In which of the following session of the Indian National Congress the resolutions on
Fundamental Rights and National Economic Policy were passed? / YRA ?T@'q PGS

o & @ oo o # Aifere oftreR ok Wty anfdfes fa ur e wifva fvd mi?
1. Faizpur,1936 / ThoTUR, 1936

2. Lahore, 1929 / TER, 1929

3. Karachi,1931 / I, 1931

4. Belgaum, 1934 / §¢ITH, 1934

Correct Answer :-

« Karachi, 1931 / B, 1931



53) The first mass movement against British India was : / fafe=r W%ﬁwmﬁlﬂ Gﬂﬁ?ﬂ Ur:
1. Non-Cooperative movement/ﬁ?-w 3figie

2. Swadeshi Movement / SdGR 3figia

3. Quit India movement / ‘J-ﬂ'\’_cf@@ﬁ 3figra

4. Khilafat Movement / RadTthd sfigia

Correct Answer :-

« Swadeshi Movement / &gt figia

54) Margosa oil is obtained from which of the following trees? / ARt od fRafafea A 9
fra i A urd gar 82

1. Ficus / TIgh Y

2. Babul / d¢fc]
3. Neem / Gt

4. Bamboo / 919

Correct Answer :-

e Neem/ Cite|

55) Which among the following is the World’s largest Wetland System?

/ Frafafea & 3 o1 Ot fay 3t a9 g1 SmyfH yumedt @deds Rvew) 32
1. Everglades (USA) / TdRTcIS Y (JUHN)

2. Okavango (Botswana) / STBTAIT ( SIeqdTN)

3. Pantanal (South America) / G-Il (GI&T0T SHNT)

4. Camargue (France) / HT (1)

Correct Answer :-

« Pantanal (South America) / U=d-TcTlel (a'fél'UT 3MfRe)

56) Scientific study of soil is known as which of the following / ffafafead Hal o1
AP ST T HaTdl 82

1. Soilology/mﬁ
2. Pedagogy / SR



3. Pedology / USIdlait
4. Ontology / fierarsh

Correct Answer :-

« Pedology / USTarSit

57) Greenland comes under which of the following Jurisdiction? / T,ﬂqa:";, fafafaad g

fae sfter-a= o 82
1. Danish / ST

2. Norwegian / 10 fo

3. US / 3HR®T

4. Dutch / &9

Correct Answer :-

o Danish / @Iﬁ?l

58) Which year was ‘Project Tiger’ launched in India? / HIRd A frg af A ‘Uiviae egTR’
3R¥H foar T 412

1. 1973
2. 1974
3. 1971

4. 1972

Correct Answer :-
« 1973

59) Who succeeded Shivaji Maharaj as the Maratha king? / HXTST XTSIT & wu ¥ Rareit

HERTS &1 IWITUBR] B F1?
1. Shahji / Sm&sH
2. Shahuji I / ITgSi 1

3. Rajaram I / XTSTRTH 1
4. Sambhaji Bhosle / FHTSIT HITal

Correct Answer :-

« Sambhaji Bhosle / HHTSIT HITal



60) Social Learning theory was introduced by: / JTHIfoT® 3IfERTH Rygid & g7 U foran
g1 YTl

1. Sigmund Freud / RTHE thias
2. Carl Jung / &Tel &1

3. Carl C. Rogers / &Tdi 4. o
4. Albert Bandura / 3fedc g

Correct Answer :-

« Albert Bandura / 3fcsc CIe]



